DAP AN

Cau | Noi dung Piém
1-a r=-2V=[") —2ra(z® + 8)dr, = %= 0.25+ 0.5+ 0.25
1-b r=0,0=7,8= [ (7T—x)ds, =38 0.25+ 0.5 + 0.25
2-a u=e" ye = [xdr, ye ¥ = %2 +C 0.25 x 24+ 0.5
2b A= (5 +92) a4 -9z +C 0.5
B =limy o (% +90) Inb— ..) = o0 0.5
2 — — 1 T
3-a k* + 5k +16 = (l~c1+ 3)(k ;r 2), ap = e Vi 0.5
3-b R =5taix=>5phan ky viap — 1 0.5
tai x = 5 phan ky vi a; khong hoéi ty, MHT (—5;5) 0.5
3-c lim ay /(k3¢2°)~1 = 1, chudi cling tich chat... 0.5
Ba—25>1&a>1 0.5
4 c=(2;0;3), d=(-3;1;2), ||[d|| = v14 0.25+ 0.5+ 0.25
2
5-a 0=12 9=1 { /e (—<2+f>") o+ [, (Lremst)® g 0.5
_ (22’ | 9n-8V2-2
Y R . . 0.5
5-b 3+ 3sinz +sin*zr =, 6+ Tsinz + 2sin’ z = 1 0.5
J=%f(u—k%)du:W—F%ln(B—stinx)—i—C 0.5
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